
 

 

 

 

 

 

 

 

 

 

 

 

 

Group A 

1. Write the answer in one sentence or in one word    [10X1 =10] 

(i)Define array. 

(ii) What is the type of error in the code 
#include <iostream.h>  
void main() 

{ int x=300,y=300,z;z=x*y;cout<<z;?. 
(iii) Define identifier. 

(iv) In which header file islower function is defined? 

(v) What is preprocessor directive? 

(vi) Define constructor. 

(vii) Define virtual function. 

(viii) When public and protected data member are inherited in public mode then in which  

section they may viewed in derive class? 

(ix) Which features of OOP is also known as reusability feature?. 

(x) What are the file pointers in C++ available to process random access file? 
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2.  Define a class Salary with data member EmpNo, Basic_Salary  and DA .With  member 

function Read_data() , Calculate_DA() and display().Read_data()  read EmpNo and 

Basic_Salary. DA calculated using  Calculate_DA()  as per the rule : if Basic >100000  DA is 30% 

of basic otherwise 40%of basic. Calculate_DA()   is declared in private section of class. 

            [5] 
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3. Write syntax of different type of iterative statements. Write a program to calculate the sum 

of the series  1+  
  

  
 
  

  
 
  

  
+…….n terms      [15] 

4. What do you mean by  function in C++? Explain different type of function definition  (based 
on arguments and return data type) with example. Also state that how the functions are 
called from other function.           [15] 

5. What is the difference between procedural program and object oriented program . Explain 

features of object oriented program.        [15] 
6. What are the different type of inheritance? Define a class Student with attribute roll and 

name and have two function  1.store()and 2.display().  
Derive a class Result having attribute mark1,  mark2 and total. It has  two function 1. Input_ 
marks()and 2.calculate_total(). Write a main program using the class.   [15]  

7. Define function overloading and operator overloading? Explain function overloading with an 

example.            [15] 
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